® PTRJI

M Z1#1E SECTIONAL DRAWING

(D % Output shaft

(2% i & Bearing for the output shaft
@M # Internal gear

@FTE% Planetary gear

BAPFR%E Sunwheel

©5#%5H RS & Full complement needle bearing
DA PR%EEHH7& Bearing for the sunwheel
(@IERCE ] %= Appropriate motor flange
Q%54 3 2 4; Precision clamping system

{TE %% Planetary Gearbox

PTF - 80 - 20 /(&ixEie)
»® @ @ GEFEA T = LA A

W
O
g

HHH5ME R Gearbox outline dimension
40:5MZExternal diameter ¢ 40mm 60:5MZExternal diameter ¢ 60mm 80:5phEExternaldiameter ¢ 80mm
120:5pMZExternal diameter ¢ 120mm  160:4MZExternal diameter ¢ 160mm




& PTZ

Hl#E K ZF#l TECHNICAL DATA

4.5 12 40 80 400 3
6 16 50 100 450 4
6 6 50 110 450 5 1
5 15 45 120 450 8
5 15 45 120 305 10
16.5 44 110 210 / e
18 44 120 260 800 12
18 40 110 230 700 15
20 44 120 260 800 16
HTE Hy H 4 58 20 44 120 260 800 20 2
Rated output torque N.M 18 40 110 230 700 25
20 44 120 260 800 32
18 40 110 230 700 40
7.5 18 50 120 450 64
20 44 120 260 / 60
20 44 120 260 / 80
20 44 120 260 / 100
18 40 110 230 / 120
20 44 120 260 / 160 3
18 40 110 230 / 200
20 44 120 260 / 256
18 40 110 230 / 320
7.5 18 50 120 / 512
s dnLife 7InBfHour 30000
B5% 18] 2215 #7146 Instant stop torque N.M 2% F =% HH $A %5 Two times of rated output torque

2 KX1Z[8 71 Max radial torque 160 340 650 1500 4200 N
B K% E F1 Max akial torque 160 450 900 2100 6000 N
96 1
SRR Full load efficiency 94 % >
20 3
0.4 0.9 2.1 6 18 1
& Weight 0.5 1.1 2.6 8 22 Kg 2
0.6 1.3 3.1 9.5 / 3
T {EiRJEE Operating temperature -25°C+90°C c
IRIZELR P 1p54
7878773 Lubrication type #& &iEiFLifetime lubrication
Z2%E77 Mounting type fEEANY

BAEEANSHRAME S, HH100RPMES, {EAFMtOZ® (L/2) 4.
The max radial and axial torque work in the location of the center of output shaft when the out speed is T00RPM.

H AR BZHRTECHNICAL DATA

0.031 0.135 0.77 2.63 12.14 3
0.022 0.093 0.52 1.79 7.78 4
0.019 0.078 0.45 1.53 6.07 5
0.017 0.065 0.39 1.32 4.63 8
0.015 0.054 0.34 1.14 3.52 10
0.030 0.131 0.74 2.56 / 9
0.029 0.127 0.72 2.53 12.37 12
0.023 0.077 0.71 1.75 12.35 15
0.022 0.088 0.50 1.50 7.47 16
0.019 0.075 0.44 1.49 6.65 20
Flah kgem? 0.019 0.075 0.44 1.30 5.81 25
Moment of inertia 0.017 0.064 0.39 1.30 4.5 32
0.016 0.064 0.39 1.30 4.5 40
0.016 0.064 0.39 1.30 4.5 64
0.029 0.130 0.70 2.57 / 60
0.019 0.075 0.50 1.50 / 80
0.019 0.075 0.44 1.49 / 100
0.029 0.130 0.70 2.50 / 120
0.016 0.064 0.39 1.30 / 160
0.016 0.064 0.39 1.30 / 200
0.016 0.064 0.39 1.30 / 256
0.016 0.064 0.39 1.30 / 320
0.016 0.064 0.39 1.30 / 512
_ rmmseodwrope ] 0 T [ erao [ ereo [ prso | pT120 | PT160 [ @stnumberorstage
E1AE AR arcmin #r#Standard <10 <8 <8 <8 <8 1
Backlash I 4 #rAStandard <12 <10 <10 <10 <10 2
FRStandard <15 <12 <12 <12 <12 3
LN ETorsional stiffness N.M/arcmin 0.7 1.8 4.5 12 38
= Noise dB(A) 55 58 60 65 70
2 7 il i #% E Max output speed min”' 10000 8000 6000 6000 6000
HEFBW AN i#FEecommend input speed min”’ 4500 4000 4000 4000 3000

1. BEHBBESWMANMARX, 2. BEQWRAE, BEEIm, FEMAREI0005/5 ZHANE,

1. The moment ofinertia is related with input shart. 2.Noise test standard pressure level ,distance 1m, measured on idle running with an input speed of 3000rpm.




@ PTE#HERST

W 2% DIVENSIONS

#tHOutput L # NInput

D1
L3 L4 4-G1

L8

L6 7|

D2

L9

WEUnit:mm

2% Number of stage 1 2 3 1 2 3 1 2 3 1 2 3 1 2
L1# 24 L1 overall length 93.5 | 106.5| 119 113 | 122 [134.5|143.5[161.5| 179 | 191.7|221.5| 249 289 338.5
L3#E 144 L3 body length 39 52 | 64.5 | 46.5| 59.5 72 60 78 95.5 | 73.7 |101.5| 129 104 1563.5
L4 544K L4 output shaft length 26 35 40 55 87

L5 %4 Z %1 /5 L5 output length to the shaft shoulder 24 30.5 36 50 82
L6% 1< £ L6 key length 16 25 28 40 70

L7% Z 45k 34K L7 key length to the shaft end 2.5 2.5 4 5 5
L8E LM &K FE L8 spigot length 2 3 3 4 5
D4H 1 E 2D4 output shaft diameter & 10h7 b 14h7 $20h7 ®25h7 ®40h7
D5%# /8 E D5 shaft shoulder diameter 12 ¢ 17 $25 ¢35 55
D67E iz Iy & B 12D6 spigot diameter 26 40 $60 $80 $130
D7# &k H1&D7 body diameter 640 $60 $80 115 $160
D8%#: 7.4 % [ED8 hole circle $34 $52 70 $100 b 145
B1$#3EB1 key width 3 5 6 8 12
H1$#&H1 key height 11.2 16 22.5 28 43

G2% 424 7.G2 mounting screw hole M4X6 M5X8 M6X10 M10X16 M12X20
G3HL 24 FLG3 center screw hole M3X9 M5X12 M6X16 M10X22 M12X25
L9 HL%h4€ FEL9 motor shaft length <26 <30 <40 <58 <81
L10%E i (™ & iR L 10 spingot depth RIFEHLR T RIBEHLRT RIEEHLR T RIBEHLRT RIFEYLR T
D1% 3 7.4 % EID 1 mounting hole distribution circle RIFBHLRT RIBAEHRT RIBBEHLRT RIBEALR T RIBEM R~
D23 fi 'y & B #2D2 spigot diameter RIBEHLRT RIFEILR RIFEHLRT RIBEHLRT RIFEHLRT
D3 N 5% 12D3 input shaft diametr <8 <14 <19 <24 <42
G1= #1245 7LG1 mounting screw hole RIFBAYLR T RIBAYLR RIBBEHLR T RIBAYLR RIBBEHLR T
Q3% A E=Q3 input flange RIBEHLR T RIFEVLR RIBEHLR T IR R~ IRIE LR

SN R TR AR IR AL R S #I4E

*Input size made according to motor size.

N
~



@ PTF#RiERST

W 2% DIMENSIONS

i HOutput L W NInput
L3 L4 D1 41
4-D9 ‘ L1 L8 jr__\—\ /
L | L5
L6 17 N\ \\
: 8 S O | | SR L 3| |88 1
s, | a
)
N % | )
\03’3\/
HEEZUnit:mm
2% Number of stage 1 2 3 1 2 3 1 2 3 1 2 3 1 2
L%k 24 L1 overall length 93.5 | 106.5| 119 113 122 [134.5(143.5(161.5| 179 | 191.7|221.5| 249 289 338.5
L3%E{& 4K L3 body length 39 52 | 64.5 | 46.5 | 59.5 72 60 78 95.5 | 73.7 |101.5| 129 104 153.5
L4t %4 FEL4 output shaft length 26 35 40 55 87
L5H 54 Z 48 L5 output length to the shaft shoulder 24 30.5 36 50 82
L6## K B L6 key length 16 25 28 40 70
L7% Z 45k 34K L7 key length to the shaft end 2.5 2.5 4 5 5
L8TE L &1 FE L8 spigot length 2 3 3 4 5
L1154 3% 2 E & L11 output shaft diameter 6 8 10 15 15
D4 % B 12D4 output shaft diameter &10h7 b 14h7 $20h7 $25h7 $40h7
D5%# J§ H #2D5 shaft shoulder diameter $12 ®17 25 ¢35 55
D6E fi 'y & E 12D6 spigot diameter $26 $50 $80 110 $130
D7#iH 3% =D7 Output flange []45 [J60 190 120 175
D8% #7143 % [BID8 Mounting hole distribution circle $50 &70 $100 130 185
D9i% 2 %2 % 71 D9 mounting hole $3.5 $5.5 $6.5 $8.5 b1
B1{#3EB1 key width 3 5 6 8 12
H1g & H1 key height 1.2 16 22,5 28 43
G3HLMZEFLG3 center screw hole M3X9 M5X12 M6X16 M10X22 M12X25
[@A@wpue ]

LOm #15h¥ LI motor shaft length <26 <30 <40 <58 <81
L10ZE fiz ™ & IR EEL10 spingot depth RIFEILR RIBEHLR RIFEILR RIFEILR RIFEHLR
D1%2% 74> % [BD1 mounting hole distribution circle RIFEYLR RIBEALR T IRIFEHYR T RIBELR T RIBEMR T
D27 fir 4 & B 2D2 spigot diameter RIBEILR RIBEHLR T RIFEYLR RIBEHLRT RIBEYLR T
D3%i N33 2D 3 input shaft diametr <8 <14 <19 <24 <42
G1RZBLFL.G1 mounting screw hole RIEEHLR T RIEEHLR T RIFEVR T RIFEHLR T RIFEMR T
Q3% A\ % =Q3 input flange RIBEIR RIBEHLR RIFEILR RIBEIR RIBEHLR

KENIH R~F AT R R R AL R~ # 4k

*Input size made according to motor size.

N
[e°)



@ WPTE#RERT

W HlH3 % DIMENSIONS

Outputig £

L1

462 ps

L3

Inputsii N

D5

|

|
D4
D6
D7

HEUnit:mm

2 ¥ Number of stage 1 2 3 1 2 1 2 3 1 2
L1#E & 24 L1 overall length 156.5(169.5|182| 194 212 229.5 | 258.7 | 286.5 | 314 | 368 | 471.5
L3#E {4 1< L3 body length 46.5 | 59.5 | 72 | 60 78 73.7 | 101.5|129| 129 | 178.5
L1257 L12 overall height 93 109.5 145.5 229

L4 H %h4< B L4 output shaft length 35 40 55 87
L5 #i4< Z % /8 L5 output length to the shaft shoulder 30.5 36 50 80
L6%# 1< L6 key length 25 28 40 70
L7$2 =35k 34 L7 key length to the shaft end 2.5 4 5 5
L8ZE I ™ & K Z L8 spigot length 3 3 4 5

D4 H %h H 2D4 output shaft diameter b14h7 $20h7 $25h7 ®40h7
D5%H 8 H 12D5 shaft shoulder diameter $17 b 25 $35 ®55
D6E i 'y & H 12D6 spigot diameter b 40 b60 »80 $ 130
D7i5% 8w mD7 gear box section $ 60 $ 80 b 115 175
D8%2 3% L. 4> 71 [EID8 Mounting hole distribution circle b 52 70 ¢ 100 $ 145
B1{#2EB1 key width 5 6 8 12
H1$285H1 key height 16 22.5 28 43
G2ZFEMRLIFLG2 x R EEmounting screw hole x depth M5X8 M6X10 M10X16 M12X20
G3H M MELFLG3 center screw hole M5X12 M6X16 M10X22 M12X25

LOEE #1441 L9 motor shaft length <30 <40 <58 <81

L10%E i 1y & R L 10 spingot depth RIFEBALR T RIFBEILR T RIFBEHLR T RIBEYLR T
D1Z % FL4 7 EID1 mounting hole distribution circle TRYE AR T RIFEBE AR T RIFEALR T RIFEBEALR T
D27 fir i1 & EH 12D2 spigot diameter RIFEBYLR T RIFBHLR T RIFPEBHLR T RIFBHLR T
D3%I N 53472D3 input shaft diametr <14 <19 <24 <42

G1R M4 FL.G1 mounting screw hole RIFBEBHLR T RIFEYLR T RIBEBHR T RIFEVLR T
Q3% N\ % =Q3 input flange RIFEAR T RIBEALR T RIFEYLR T RIFEYLR T

XEN i R T R AR IR R AL R~ 4o

*Input size made according to motor size.




@ WPTFHERST

M #lii24 DIMENSIONS

Outputigi

L1

L3

L4

lco

Inputidi A\

L6

L5

D.
D
D7

L9
o4 |+

@

L10

D2

EEEfHZUnit:mm
2R Number of stage 1 2 3 1 2 3 1 2 3 1 2 3
L1#84k =14 L1 overall length 156.5 | 169.5 182 | 194 212 | 229.5 |258.7 | 286.5 | 314 | 368 | 471.5| /
L3814 L3 body length 46.5 59.5 72 60 78 95.5 73.7 101.5 | 129 | 129 | 178.5| /
L1225 L12 overall height 93 109.5 145.5 229
L4t %i4< BEL4 output shaft length 35 40 55 87
L5 #h4< Z 545 L5 output length to the shaft shoulder 30.5 36 50 80
L6## 1< B L6 key length 25 28 40 70
L7%2 =55k %1€ L7 key length to the shaft end 2.5 4 5 5
L8 iz ™ & K £ L8 spigot length 3 3 4 5
D11;5=J2F L11 flange thickness 8 10 15
D4H 3 B 2D4 output shaft diameter ®14h7 $20h7 b25h7 $40h7
D5%# J§ H {2D5 shaft shoulder diameter 17 ®25 $ 35 & 55
D67EfiL ™ & E £D6 spigot diameter $50 » 80 ®110 $ 130
D754 #im D7 gear box section 160 190 1120 »175
D8% & ¥L. 4y 5 [EID8 Mounting hole distribution circle ®70 $ 100 $130 $ 185
D9k 2% 7L.D9 flange mounting hole 5.5 $6.5 $8.5 d 11
B1{#3EB1 key width 5 6 8 12
H1$SH1 key height 16 22.5 28 43
G3F/ZLFLG3 center screw hole M5X12 M6X16 M10X22 M12X25

LOEE #L%#4< FEL9 motor shaft length <30 <40 <58 <81

L10%E i 1 & iR FEL10 spingot depth RIBEHLR T RIFEHLR T RIFBEHLR T RIBEYLR T
D1% % 7L 4> % ED1 mounting hole distribution circle RIFEVLR T RIEBEYLR T RIFEVLR T RIEEYLR T
D27 iz 'y & B 12D2 spigot diameter RIBEHLR T RIFBEBHLR T RIFBEBHLR T RIBEYLR T
D3N ZD3 input shaft diametr <14 <19 <24 =42

G122 4 FLG1 mounting screw hole RIFEYLR T RIFBBEYLRT RIBEYLR T RIFEYLR T
Q3N %22Q3 input flange RIFBEYLR T ARIFEEBEHLR T ARIFEBEYLR ST RIBEYLR T

BN R T AR B R ALR T #ME
*Input size made according to motor size.

(&)
(@)



® WPTE

W5 A HHTECHNICALDATA

BE M A SR 40 110 230 780 25
Rated output torque N.M 44 120 260 910 32
40 110 230 780 40
18 50 120 450 64
44 120 260 / 60
44 120 260 / 80
44 120 260 / 100
40 110 230 / 120
44 120 260 7 160 3
40 110 230 / 200
44 120 260 / 256
40 110 230 / 320
18 50 120 / 512
5 fiLife 7NBfHour 30,000
5% (8] & 1= #7 4B Instant stop torque N.M 2f& F &0 & fa 1 #1%E Two times of rated output torque

fx A 12 [a 71 Max radial torque 340 650 1500 1900 N
£ A% 8 71 Max akial torque 450 900 2100 8200 N
94 1
ELFLE Full load efficiency 92 % >
88 3
1.7 4.4 12.0 26.5 1
TR Weight 1.9 5.0 14.0 296 Kg >
2.1 5.5 16.0 / 3
__ T {E;BFE Operating temperature —25C~+90C <
RINFELR 1P P54
087875 5K Lubrication type 2 & 88 Lifetime lubrication
%7 Mounting type {E7ANY

RAREANSEKRMESN, HH100RPMES, EAFHEHMHPOLE (L2) 4.
The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.

0.246 1.189 5.75 / 3
0.204 0.939 3.91 19.4 4
0.189 0.869 3.35 17.5 5
0.176 0.809 2.89 15.9 8
0.152 0.730 2.54 15.5 10
0.242 1.159 5.73 / 9
0.238 1.139 5.60 / 12
0.188 1.129 5.53 {1529 15
0.199 0.919 3.83 19.4 16
0.186 0.859 3.28 17.5 20
g Kgem? 0.186 0.859 3.26 17.5 25
Moment of inertia 0.175 0.809 2.84 15.9 32
0.175 0.809 2.84 15.9 40
0.175 0.809 2.84 158 64
0.187 0.929 5.62 / 60
0.186 0.919 3.28 / 80
0.186 0.859 3.26 / 100
0.175 1.119 5.47 / 120
0.175 0.809 2.84 / 160
0.175 0.809 2.84 / 200
0.175 0.809 2.84 / 256
0.175 0.809 2.84 / 320
0.175 0.809 2.84 / 512
[5] 72 18] B Backlash SR %y arcmin <15 <19 <20 <30 2
<15 <20 <21 / 3
s 4.5 10 1
HLIA N ETorsional stiffness N.M/arcmin 2.5 E.5 13 2
25 6.3 12 3
2 7S Noise dB(A) 65 68 70 72
% /5 % HH ¥ 3 Max output speed min’’ 13000 7000 6500 4500
HE FF 4 N\ ¥E 32 ecommend input speed min”’ 3000 3000 3000 3000

1. BHRBSWABER, 2. BERURE, BEFIm, FEHAFKE0005/5THMNS,

1. The moment ofinertia is related with input shart. 2.Noise test standard pressure level ,distance 1m, measured on idle running with an input speed of 3000rpm.




